= AH O
N = 0 &8 AF S & Al A
20108 20d =UHESHELESH &AM
2AM: XS E
M NESE#F A
S = - AN (FUNESISEESA) (&2 &2
- _ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol & @,;OH Hns
XS Z M 550,000 618,921 68,921
nNEsHY A 550,000 618,921 A68,921
F - HXNENEE(FNE2EEESA) 550,000 618,921 68,921
L AEEXI b e Al 3,000 3,000 0
201 LBt29H| 3,000 3,000 0
01 At 22l 3,000 3,000 0
o L AMEXIXE Ao 50,000 * 5CH =* 3,000
= - 83X B 40,838 38,639 2,199
101 el 244| 23,038 21,839 1,199
04 JI2ZtHZ22e NS 23,038 21,839 1,199
o FAHXIEE 012 33,740 * 44 = 150 20,244
o 4HBE = 20,244,000 * 13.8% 2,794
201 Et29h| 15,800 13,600 2,200
01 At22teldl 14,600 13,600 1,000
o =HXOHWEXIE X & 100,000 *= 804 8,000
o NEHFAHA SEEEHF 500,000 * 23] 1,000
< S EH| > 0
o EYPFAEX x5 L HEigd S
7,000 * 48 = 200 5,600
02 S=s2494l 1,200 0 1,200
o SAEH 2R3 100,000 *= 12& 1,200
202 044l 2,000 3,200 A 1,200
01 Z2WAHYI 2,000 3,200 A 1,200
o SYHFAX o= 2 JHiE A
20,000 * 5 = 20 2,000
ASx2d MElsg 20a S 30,950 25,151 5,799
201 Et2a | 30,950 25,151 5,799
01 AtS22telyl 16,950 17,771 A 821
o NS SEZ(LE, SEAR S)
70,000 * 1008+ A 7,000
o NS ¥ HASSHNES DXA
70,000 * 30&tA x 3F 6,300
o ZglfH &Y 2,450
- HOSAHNEHS DN S 28|
150,000 = 1CH = 3H 450
- 2282 FEE(H SCHP-4286)
173,000 = 2CH = 404 1,384
- SEYLR FANE(IH=LBP-6280K)
154,000 = 104 = 44 616
o ANRES 7Y 10,000 * 20& * 63/ 1,200
02 s=2494| 14,000 7,380 6,620
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o UHSXF A HHE 100 = 20, 00004 2,000
o ASA 23 3

250 = 4,00000 = 123 12,000
=1 X129 200,000 0 200,000
401 AIEHIZ R0 200,000 0 200,000
01 AlZHI 200,000 0 200,000

o ZE =& &1 200,000,000 * 1A 200,000
ollglyl 275,212 552,131 A276,919
801 0ildlbl 275,212 552,131 N276,919
01 ollglyl 275,212 552,131 A276,919

= 0ldlhl 275,212,000 275,212
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